ShorePort Side Mount Flexi-Hinge

Instructions
Part# 1013365

Failure to follow instructions may result in personal injury and may invalidate the applicable warranty.
Note: Refer to exploded parts drawing on following page for details on flexi hinge assembly.

Step 1. Attach flexi hinge assembly extension plate to floating dock. Plates will have to be spaced about 116-1/4" between
plates so they will line up to corresponding plates on the ShorePort. Attach brackets to ShorePort and measure between to
verify spacing.

Step 2. Assemble flexi hinge assembly. Slide connecting rod through hole in bottom of flexi hinge assembly weldment and
attach using oval screw (you will have to drill a pilot hole for screw). Next insert 5/16 x 4-1/2" hex bolt through lock washer,
rectangular washer and insert through hole in accessory top connector and thread into connector rod just enough to hold it
together. Attach rubber plate to flexi hinge assembly weldment using one flexi hinge assembly angle, three 3/8 x 2 hex bolts
and 3/8 nylock nuts. Attach two other flexi hinge assembly angles to other end of rubber plate using three 3/8 x 2 hex bolts and
3/8 nylock nuts (make sure to bolt through the holes not the slots).

Step 3. Attach previously assembled portion of flexi hinge assembly to front of ShorePort so the connecting rod will end up
centered in the second vertical groove on the front of the ShorePort and attach the rear side flexi-hinge to the rear side of the
ShorePort so its connector rod is centered in second groove from the back of the ShorePort. Leave connecting rod bolt loose.

Step 4. With no weight on the ShorePort float ShorePort next to floating dock and attach flexi hinge assembly extension plate
to flexi hinge assembly angles using four 3/8 x 1-1/4 hex bolts, flat washers and nylock nuts. Make sure ShorePort is floating
level in the water and rubber plate is level before attaching. After attached tighten all hardware. Torque 5/16" x 4-1/2" connector
rod bolts to 20 ft/lbs. DO NOT OVERTIGHTEN AND DO NOT USE A HIGH SPEED DRILL.

Note: If you are in an area with heavy boat trafficor <SS
waves greater than 1'-6" use stand-off brackets - ' \
and pipe brackets instead of the flexi hinge
assembly. Side mount flexi-hinge assembly should
be used to attach only one ShorePort parallel to
dock. If multiple ShorePorts are to be attached side
by side pipe brackets should be used instead of
side mount flexi-hinge.

Kit includes front and back
brackets to attach side of
ShorePort to floating dock.

Floating
Dock

ShorePort

Side Mount Flexi-Hinge



